Squaring the polynomial (—3x — 15):



Squaring the polynomial (—3x — 15):

(—3x — 15)? = (—=3x — 15) - (—3x — 15)



Squaring the polynomial (—3x — 15):

(—3x —15)2 = (—3x — 15) - (—3x — 15)
= 9x?



Squaring the polynomial (—3x — 15):

(—3x — 15)% = (—3x — 15) - (—3x—15)
= Ox? + 45x



Squaring the polynomial (—3x — 15):

(—3x — 15)? = (—3x—15) - (—3x — 15)
= Ox? + 45x + 45x



Squaring the polynomial (—3x — 15):

(—3x — 15)? = (—3x—15) - (—3x—15)
= 9x? 4 45x + 45x + 225



Squaring the polynomial (—3x — 15):

(—3x — 15)? = (=3x — 15) - (—3x — 15)
= Ox2 4 45x + 45x + 225



Squaring the polynomial (—3x — 15):

(—3x — 15)? = (=3x — 15) - (—3x — 15)
= Ox? + 45x + 45x + 225
= 0x2 4+ 90x + 225



